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1. d(InGDP - InKg) ; 4 EERS%

obs 1504
R2C 0.25
ETHARS [1981-2012
2015 FEHFIHER
iES: 4 tfE
Constant 0.002 0.763
d(InKp - InKg)
401 10. *okk
—FME 0 1ET B, 0490 06856
d(InL - InKg)
. 12. *okk
—EBEBIET S, 0524 2708
Okidum* d(InKp — InKg) -0.082 -0.324
Okidum* d(InL = InKg) 0.115 0.777
DLS -0.004 -1.441

() wokr 1WKETHE., o SWKETHE., x: 100KETEE. LT
FC,

2. Cpn/Yzfk; JHELE

obs 1504
R2C 0.97
|#EEHHART  [1981-2012
2015 FEHEEHER
BE tiE
da1980s 4.859 16.869 [Hokk JtimiE
4.410 17.873 [sork HHRR
4.337 17.704 [ioxx EFE
4.531 17.750 [orx TR
4.248 17.614 |skx MEAR
4.214 17.419 [ork iy 2
4.398 17515 [ork BEE
4.255 17.421 [oxx B LLY
4.116 17.271 [hork HAR
4.095 17.388 [k HEER
4.738 17.692 [k BER
4.651 17.647 [orx FEE
4.896 17.410 [oxx F
4.833 17.699 [tk wE)NE
4.486 17.567 [oxx 8
4.063 16.484 [k
4.189 16.983 [k
3.943 16.481 [k
3.721 16.907 [k
4.114 16.824 [k
4.242 17.226 [k
4.491 17.357 [ork
4772 17.487 [oxk
4.134 16.971 ook
3.949 16.584 [k
4.256 16.819 [k
4.808 17.149 [iork
4.477 16.923 [k
4.034 16.816 [k
3.822 16.354 [k
3.859 16.542 [k
3.848 16.357 [k
4.278 16.875 [k
4.456 17.084 [k
4.194 16.818 [k
4.062 16.780 [k
4.140 16.725 [k
4.277 16.927 [k
4.033 16.626 [k
4.685 17.470 [ork
4.039 17.342 [ork
4.325 17.640 [k
4.303 17.479 [ork
4.235 17.580 [k
4.207 17.669 [kxx
4.322 17.623 [ork
3.991 14.802 [k
Oldrate*da980s 3.741 3.720 [wokk
3.821 8.109 [k
6.965 10.782 [k
5.163 7.445 |wnk
5.650 8.265 |skx
6.656 9.385 |¥kk
4714 8.110 [k
4177 6.501 |sokk
4.005 7.328 ¥k
7.608 4.371 |skx
d(Oldrate)*da1980s -10.843 —2.977 |**x

-81-



2015FEHTFHE

3 tiE

da1990s 5.267 18.060 [Hkx B[ #::: 3
4.837 18.265 [Hkk EHRE
4813 18.142 [xk* [T
5.003 18.194 [sokk =EHE
4762 18.190 [Hokx MEE
4744 17.994 [skx 107
4915 18.066 [*x EER
5.031 18.080 [Hkx RIWE
4913 18.031 [#kx HAR
4917 18.107 [k* BEE
5.340 18.072 |k BER
5.300 18.072 [Hokx FER
5.640 18.363 [k R
5.441 18.084 [Hokx #wEIE
5.003 18.087 [Hokx HiRE
4.799 18.045 [Hkk EWLR
4.859 18.252 [k IS
4.688 18.142 [tk BHE
4.676 18.123 [sokx WEIE
4.933 18.030 [k RHFR
4.885 17.956 [k IR BB IR
5.121 18.041 [#kx FREE
5.335 18.010 [Hkx ZHE
4.875 17.984 [xkx ZER
4.795 17.947 [Hkx HER
5.062 18.109 [Hkx RERRT
5.411 17.972 [rokx ABRFF
5.200 17.824 [kx EER
4777 17.818 [Hokx ERE
4.720 18.034 [Hokx MG
4.555 17.892 [#kx SmE
4.565 17.725 [k BiRE
4.945 17.934 [sokx [FATITY
5.050 17.908 [Hokx LER
4.834 17.808 [#kx iT[=]-}
4.660 18.061 [Hokx BER
4.753 17.983 [#kx FINE
4.848 18.040 [Hokx ZRER
4.658 18.028 [Hkk oyl
5.218 18.125 [Hokx &R R
4.609 18.106 [Hkx EER
4.840 18.238 [sokx RIGE
4.896 18.203 [sokx REXE
4.790 18.225 [sokx AHE
4.738 18.234 [sokx EFR
4.896 18.227 [sokx BRER
4.659 18.283 [Hokx ERR

Oldrate*da1990s 0.297 2.058 [xk dtisE
0.342 5.044 |xkx it
0.488 6.802 [kx ESEY
0.223 2.085 %k A
0.491 5.771 [okx ER
0.450 5.537 [Hokx plin ]
0.356 3.971 [okx FE
0.323 3.429 [#kx ]3]
0.362 4.860 [¥kx A
1.017 4.192 [rokx bk

d(Oldrate)*da1990s -1.394 -1.687 |*

RMedAD

Cpn(=1)/Yzfk(-1)

In(Yzfk)

d(ctax)
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3. Ip/Kp(-1); REAERERRE

obs 1081
R2C 0.91
HEEHEART  [1990-2012
2015 F EHERER
FH i
Constant -0.015 -1.130
-0.029 -2.819 |okk
-0.035 -2.187 |k
-0.038 -3.799 |skk
-0.047 -3.407 |k
-0.044 -2.721 ok
-0.018 -2.343 %k
-0.031 -3.718%kk
-0.042 -4.215 |skk
-0.038 -3.436 sk
-0.033 -3.684 %k
-0.023 -2.880 |k
-0.025 -2.887 |okk
-0.026 -2.725 |skk
-0.021 -2.444 %%
-0.039 —3.771 [k
-0.054 -4.872|%kk
-0.055 -5.838 |kk
-0.020 -2.303 #*
-0.068 -4.237 sk
-0.025 -2.871 [k
-0.043 -4.230 |k
-0.051 -5.217 ok
-0.017 -2.008 ¥
-0.014 -1.220
-0.036 -3.640 |k
-0.025 -3.540 |skk
-0.019 -2.511 sk
-0.026 -3.346 |xkk
-0.044 -2.541 [%*
-0.024 -2.543 %k
-0.020 -1.775*
-0.032 -2.474 %%
-0.038 -3.741 sokk
-0.036 -2.772|kkk
-0.036 ~1.981 [k
-0.042 -3.412%kk
-0.019 -2.014 %k
-0.027 -2.269 ¥k
-0.040 -3.531 sokk
-0.011 -1.396
-0.021 -1.942]%
-0.034 -3.767 |sokk
-0.014 -1.647[*
-0.056 -3.032[kk
-0.019 -2.252 %
-0.029 -1.883*
db 0.000 -0.077
-0.009 -3.128|skk
-0.003 -1.294
-0.010 ~3.604 %k
-0.001 -0.514
-0.005 -1.715*
-0.003 -1.196
-0.006 —2.140|%*
-0.005 -1.922*
-0.005 -1.870*
-0.010 -3.384 %kk
-0.008 -2.549 ¥k
-0.008 -2.967 |skk
-0.005 -1.698]*
-0.006 -2.262 %
-0.007 -2.285 ¥k
-0.004 -1.532
-0.016 -5.470|skk
-0.007 -2.594 %k
-0.003 -1.001
-0.005 -1.671*
-0.006 -2.234 %%
-0.013 -4.873|xxk
-0.004 -1.323
-0.003 -1.201
-0.008 -2.784 %5k
-0.009 -3.014 %5k
-0.003 -1.087
-0.003 -1.011
0.003 1.227
-0.006 -2.173 ¥k
-0.004 -1.422
-0.005 -1.734[%
-0.006 -2.114 %%
-0.002 -0.867
0.001 0.451
-0.004 -1.272
-0.005 -1.875* BiRR
-0.005 -1.817|* EEE
-0.007 -2.390 %% EEE
-0.003 -1.056 EER
-0.005 -1.794* iR
-0.008 —2.670 %k BEAE
-0.006 -2.452|%* KRR
0.002 0.928 BIFR
-0.006 -2.140 ¥k ERER
-0.003 -1.219 IPHRIR
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015FEEHTEHE
[ tiE

Kpprod 0.188 2.866 [*¥xx i
0.332 5.977 [k AEHRE
0.347 3.661 k*x EFR
0.353 6.655 [Hkx =HE
0.421 5.393 [k AR
0.424 4.428 |xkk I
0.300 5.600 %+ sEE
0.363 6.658 |+ RiRE
0.410 6.701 [**x HAE
0.371 5.657 |**x HEE
0.281 6.717 |x*x HEE
0.266 6.140 Hkx FEER
0.205 6.100 [k R
0.271 5.432 %k wWENE
0.283 5.299 [k HiRE
0.387 5.867 [k EILE
0.399 7.270 %% AJIE
0.547 8.160 [k BHE
0.251 5.756 |Hokx AT
0.540 5.764 % EHE
0.274 5.595 [k g 218
0.390 6.521 [Hokx BRI
0.477 8.147 k*x ZME
0.323 5.289 |¥¥* =)
0.231 3.385 %k HEER
0.291 6.315 %k AT
0.269 7.419 [sokx KBRAF
0.285 6.623 | %xx EER
0.248 6.608 [k =RE
0.433 3.885 %k FNFLE
0.256 5.211 %% EmlE
0.250 3.891 [#*x ERE
0.341 4.133 [k FE LR
0.378 6.134 %k LE%
0.427 4.298 [soxk =]}
0.348 3.327 [Hokx BmEEE
0.380 5.378|¥*x BFNE
0.263 4.681 |x* BIEE
0.262 4.426 |%x* S50
0.344 5.855 % EEE
0.218 4.729 |sokok EER
0.268 4.558 |*x* Ei5E
0.333 6.942 %% BEAE
0.253 4.850 [xk* ARE
0.454 4.377 [rrx EiFE
0.234 5.349 [k EREE
0.251 3.932x¥% ShgEIE

EVD -0.0011 -0.396 dtisE
0.000 0.288 it
0.002 2.267 % EES
0.007 4.297 ¥k depE
0.003 2.999 |Hokx Lok
0.003 2.909 |Hkx plin-5
0.003 2.919 |fokx FE
0.005 2.789 [k mE
0.002 2.400 [** JU
0.001 0.292 bk

din(GDP) 0.035 6.058 | #kx

LRATE/100-@pch(PGDP) -0.070 —5.347 [x#x

Ip(=1)/Kp(=2) 0.556 26.272 %%
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4. NetExp; fifsH A

obs 517
R2C 1.00
HEETHARY  12002-2012
2015 EHTEHRE
£ tiE
Constant 4203529 1.114 dbimE
-717854 -0.484 BEHRE
-647819 -0.437 EFE
-768490 -0.518 EHE
-705966 -0.476 MEHE
-634956 -0.428 ITFA
-622315 -0.421 EEE
-4044251 -2.361 %% RRE
-4049857 -2.365[%% HAR
-4022582 -2.348|%* HER
-5246704 -3.017 %k BEE
-4549720 -2.637 [*x* FEE
2609889 1.168 REH
-4876280 -2.813[%x* H)I[E
-653616 -0.441 Hing
658125 0.290 =g
598809 0.264 aINgE
645024 0.284 BHE
-4201003 —2.449 [x% Iy
-3488266 -1.625 RER
-3482512 -1.622 Iz B2 1
-3171009 -1.486 BHiE 2
-2374420 -1.122 ZHE
-3521787 -1.639 =
-270884 -0.167 HER
-433715 -0.266 SRERRT
458562 0.288 KBRAF
-357906 -0.221 EER
-576021 -0.353 ZRE
-510886 -0.314 MILE
-380775 -0.214 BEmE
-371684 -0.209 SRE
-303526 -0.171 & LR
-120557 -0.068 LE8
-194850 -0.110 =]}
301943 0.157 mEE
342680 0.178 FINE
122457 0.064 ERE
136712 0.071 =g
-143714 -0.101 LIRS
-298931 -0.210 EER
-325890 -0.229 RIFE
-340942 -0.240 REARE
-250433 -0.176 AHE
-385754 -0.271 =
-422008 -0.296 EREE
-232752 -0.059 HERE
WORLDMP*REXRATE 0.322 0.804 dtimE
-0.177 -1.147 ®i
-0.338 -2.645 | ¥kk ESEY
0.067 0.287 JehE
-0.329 -1.599 AR
-0.028 -0.165 EE
0.061 0.340 FE
0.136 0.685 P
0.093 0.641 S
0.132 0.332 iE
GDPP(-1)-
(GDP(-1)-NETEXP(-1)) 0448 B617 e
GDPALLREG(-1)- -0.010 -1.176 deimE
NETEXPALLREG(-1) 0.002 0.539 it
0.014 2.554 %% ESED
-0.001 -0.261 4
0.009 1.705* k=il
0.001 0.296 E
0.001 0.155 P E
-0.001 -0.196 MU E
0.000 0.148 L
0.000 -0.004 shiB
NETEXP(-1) 0.350 5.390 [**
DLS -162055 ~4.937 [#xx
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5. Kp; REITEEEARRIYY

obs 1504
R2C 1.00
#EETHART  11981-2012

2015 EHTERE

& tiE
[s, 0.045 | 109.377 [#%x

XHEFH
Kp = (1-8 1) * Kp(-1) + Ip * Ip05to00

6. Kg; HEEBARRIYY

obs 1504
R2C 1.00
#EETHARY  11981-2012

2015 EHTERE

®E tiE
[s, 0.018 72.002 [sx

XHEE
Kg=(1-0,) * Kg(-1) +Ig

7. dn(PGDP); GDPTZL—%

obs 1457

R2C 0.45

HEETHART  [1982-2012
2015 EHTEHRE

3 il

Constant -0.339 —12.498 [***
GDP(-1)/GDPP(-1) 0.338 12.454 [¥*x
din(YWH(=1)/GDPN(-1)) 0.086 6.112 [¥xx
din(PGDP(-1)) 0.541 20.699 [x*k
D(CTAX) 0.608 10.325 [**x
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8. ER; M¥EX

obs 1410
R2C 0.99
HEETHARS  11983-2012
2015FEHEHRR
3 tiE
Constant -0.080 —7.010[*%* JtiEE
-0.075 -6.692 |**% AR
-0.072 —6.437 %%k EFR
-0.078 —6.866 |¥x* EIRE
-0.074 —6.642 %%k MEE
-0.072 —6.507 |k IRz R
-0.076 -6.807 ¥k EER
-0.077 -6.811 [k TR
-0.076 —6.739 %% N
-0.075 -6.662 %k HEE
-0.085 —7.209 %%k BEE
-0.085 ~7.258 |*x* FEE
-0.069 —-6.101 [fxx HE
-0.085 —7.239 %%k =)
-0.074 —6.614[*x* e
-0.073 -6.523 |*x% ZILE
-0.073 —6.488 |k HIIE
-0.072 —6.465 %k EHE
-0.074 —6.615 |k IR
-0.071 -6.397 %%k EHR
-0.075 —6.666 ¥k Iz B2 12
-0.072 —6.441 %%k £
-0.072 —6.353 |k ZHE
-0.075 —6.641 ¥k =
-0.076 -6.701 [¥sok HEE
-0.081 —7.060 %% RERAT
-0.078 —6.872|%k% ABRAF
-0.080 -7.019 |4k EES
-0.085 —7.306 |**% Z=RE
-0.075 —6.676|*%* MPLE
-0.072 —6.473 [Hkx EmE
-0.070 —6.309 |*x% BiRE
-0.074 —6.650 [*x* fALE
-0.075 —6.704 %%k L52
-0.075 —6.725 %%k wng
-0.074 -6.632[%*k mEER
-0.074 —6.658 |k FNE
-0.074 —6.611 %%k ZRE
-0.075 —6.771 [k =518
-0.077 -6.788 %%k =R
-0.072 —6.438 %k EER
-0.073 —6.566|*k* RIGE
-0.073 -6.584 %%k AR
-0.075 -6.675 %%k B
-0.073 -6.559 ¥k HFE
-0.073 -6.587 [k BERSR
-0.075 -6.608 ¥k Pk
GDP(-1)/GDPP(-1) 0.049 5.038[***
(P1519+P2064)/POP 0.085 6.249 |%x%
ER(-1) 0.945 96.518 %%
PDLO1 0.016 2.234 %%
PDLO2 0.016 1.662[*
FT—EUIT DR DEGREE=1 __ S.C=N EC=N
2015 FEHERE
@pch(W)-@pch(PGDP)| _ {&# tiE
1 (RiTHA) 0.016 2.234
2 (2878 0.031 4.749 |Hxk
a5 0.047 4.814 [¥%x
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9. @pch(W); — A&H1=UE A& HEN

obs 1457
R2C 0.41
HEETHAR  11982-2012
2015F EHFEHR
hER tiE
Constant -0.011 -2.307 |**
@pch(PGDP) 0.608 16.552 |k
ER 0.031 3.775 |¥kx*
@pch(W(-1)) 0.237 0.868 [xx*
10. din(ZAISAN); BAEERRTIS
obs 1504
R2C 0.27
#ESHHARS  [1981-2012
2015 EHTRER
&# tiE
[din(GDPN) 1.265 21.468 [¥*x
[D(LRATE) 0.060 13.950 [+oxk
11. LRATE/100; ZA#H{&/EEE5EE @Y
obs 1457
R2C 0.71
HEETHARS 11982-2012
20155 EHEHR
£S04 tiE
Constant -0.074 —3.616 |k JtimiE
-0.074 —3.644[+%x EHE8
-0.074 -3.637 [*x* EFE
-0.073 —3.587 [*xx =R
-0.071 —3.483 [xx AR
-0.067 —3.283 |k IRz IR
-0.070 —3.439 %% wEE
-0.071 —3.482 %k FE
-0.069 —3.410 %%k HAR
-0.070 —3.440 %% BEEB
-0.070 —3.453 %%k HER
-0.069 ~3.401 [k FzE
-0.071 —3.495 %k R
-0.070 —3.441 [sokk HE)Ig
-0.072 —3.539 [%* 1}
-0.071 —3.477 %% ]
-0.071 —3.501 [k aJIE
-0.071 —3.470 %% BHE
-0.074 —3.610 |k WERLE
-0.067 —3.301 |k RHEE
-0.072 —3.550 %%k IR IR
-0.070 —3.462 |5k B2
-0.069 —3.412|%%% ZHME
-0.071 —3.506 %%k =ER
-0.069 -3.371 [k HEE
-0.070 —3.444 %% SUERRT
-0.072 -3.540 [k KB AT
-0.071 —3.474 %% EEE
-0.070 —3.41 4%k ZRE
-0.078 —3.819|%x%* MAILE
-0.071 —3.507 [** EmE
-0.076 —3.720 [k BiRE
-0.071 —3.483|%%x FE LR
-0.069 -3.398 [*xx LBE
-0.071 -3.4745xx =1}
-0.076 —3.743 %% mEE
-0.074 —3.615*%* BNE
-0.072 —3.528 |k ZREE
-0.074 —3.610 %% S8
-0.068 -3.351 [#okx =R
-0.074 —3.613 [skx EER
-0.073 —3.567 [sokk RIBE
-0.071 -3.501 [k REXE
-0.075 —3.673 %%k ARR
-0.073 —3.576 |k EIFE
-0.072 —3.553 [#*x EREE
-0.076 =3.717 %% g
GDP/GDPP 0.102 5.054 %k
PDLO1 0519 25.685 %
PDL02 0.034 0.974
T—EVSTDHE DEGREE=1 __ S.C=N E.C=N
2015F EHFEHR
@pch(PGDP)| &% tE
0 () 0519 25.685 [¥kk
1 (FTED) 0.553 29.210 [%*x
At 1.072 59.891 [¥kx
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